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2. This paper has two sections A and B. Section A has 20 No. |
Questions and section B has 12 questions .This paper
has 13 pages printed altogether. 1-5
3. Answer all questions. All the working for both sections i
A and B must be shown in the spaces provjded. 11-15
4. All working must be done using a blue or black ball 16-20
Point pen or ink. Any work done in pencil other than 21-22
Graphs and diagrams will NOT be marked. 23-24 1
>- No calculators are allowed in the examination room. 25-26 |
6. Unnecessary changes in your work and handwriting | 27-28 1;
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2. Write “Fourteen thousand, forty two" In ligure
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3. Simplify: 5k— (42)
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4. Round off 4.46 to the nearest ones.
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S Micah had his lunch at the time own on tn )

time did he have his lunch?
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7. The mean of y, 5, 3 and 2 is 3. Find the value of y.
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8. Given that M = {all vowel letters}. Calculate the number of subsets in set M.
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The cost of 3kg of maize flour is sh. 7,500. If Moses paid sh. 125.00 :

f lour at the same rate, calculate the weight
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-I S€lling a phone at sh. 90,000, Ssentongo realized a loss of sh. 30.000

was the cost price of the phone?
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15. Find the biggest number of pupils who can be given 12 or

apple remains.
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19. A farmer planted 100 eucalyptus trees in his garden in a straight line. The
distance from one tree to another tree was 600cm.each. Calculate the
distance from the first to the last tree in meres.
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20. The base area of a rectangular box is 48cm?. Find its height if it has a volume
of 200cubic centimetres.
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b) How many guests did not eat fish? : : (3marks)
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22. Given the digits 4, 0, 6 nu—‘)‘ = 14 tiuuh

a)Write all the possible 3-digit numbers that can be formed using all the above
digits. (2marks)
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ne LCM of two numbers is 36 and their GCF is 6, find the first number if the
second number is 18. (2marks)
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24. Study the number line below and use it to answer the questions that follow.
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a) Name the integers represented by; (Imark@)
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b) Solve the inequality; 7 < 3[')':2 < 16 and find the
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b)If she remained with sh. 3,600 after buying all the items, how much money
did she have at first?
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2 a basket of 45 eggs, 20% of them are bad eggs and the rest are good
a) ~:-.-. many good eggs are in the basket? (3marks)
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b) Express the number of Bad €ggs as a fraction of all the eggs in the lowest
| J(
= | gl (2marks)
Bad « s
i Lo by
\ 95 -3¢ “'(jj) S
b' ‘-L’ —-1— f
J 1)
AT 5 11

Turn Ov




VA
A OO .
- ) ) \ | 94 ,
, i » ) N ) \ L ™S
W\ - '
- - pam W ‘
<X 3 5
2 3
ES S qa
21 Using a pair of compasses, ruler and a pencil only
: 1gle PQR in which PQ=6cm, angle RPQ =60" and angie
; . t PQ at K. (5marks)

Construct a perpendicular from R to mee
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b) Measure RK= IL14 cm
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b) Calculate the average speed for the whole journey. (2 marks)
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